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fRik-REETE 1] = ¥292,950
EE- S -EBETE 1] =& ¥63,000
BEEHE-HLEUYIE 1] = ¥244,560
EEIE 1] & ¥327,000
RELEFIE 1] =€ ¥214,340
NEGEF-HATE 1] = ¥0

EREBETE 1] =& ¥425,500
ZERRIETE 1| = ¥593,000
HBHKBERBIE 1] =& ¥200,500
HRAEZBEIE 1] =€ ¥65,800
HHEIEEE SEEE 1] = ¥470,050
HEEH 1] =& ¥140,000
i K 5 1 =& ¥-66,700
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a—K IHH B3 = | B B +%8 k=
fRIK-RERTE
KHFEE ST ARE 343 m 1500 51450
EXAER. ZHRREDNE
SRIREE E R A 35 | m 9000 31500
ol i TAWD) 6 m 8000 48000
BEHRH AKX 2 | AT 16000 32000
Bt EMRE M 1 ) 15000 15000
BN & 1 = 65000 65000
EXRRERE 1 | AT 25000 25000
WHEKBERERE 1 | AT 25000 25000
18 B /et 1 = ¥292 950




a—K IHH B3 #E | B B +%8 k=
EE-3A)L-EBIE
HKEEOHRL 3 m 6000 18000
rLERE EILZIL 25 | m 9000 22500
EEHZ 55 | m 3000 16500
HMEEREIEM 1 = 6000 6000
18 B /et 1 = ¥63,000




a—F EE | B A B4 {f £%8 B
BEHXE-BEUYIE
XH# DTUBRY 343 | m 1200 41160
LY T bt A& LGS65 381 | m 1800 68580
PB125 762 | m 1100 83820
& VEER{ T #h4dad 1 = 8000 8000
B O #h#d o 5 | &fr 3000 15000
BEAL 1 | AT 20000 20000
HMERERRBIEM 1 = 8000 8000
IHH /NG 1 [ = ¥244.560




O—FK I5H 30 HE | B =i £%8 s
EETE
INY)X—R-RMLET 2 = 28000 56000
B3 A 1 = 14000 14000
AT RT 1 =) 42000 42000
B O 1 = 9000
aEs 1 =) 15000
LA 1 =) 65000 65000
YT IV a—r—R 1 = 89000 89000
EMERE 1 = 9000 9000
HMEERBIEM 1 = 2000 2000
RiGHEITE 2 | AT 25000 50000
IHH /MG 1 = ¥327,000
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REHEIFTE
BEm/OXEEY FERREEIY 60 m 1000 60000
207 24)LEEY 208 | m 4800 99840
NEN 20 | & 400 8000
HERK PHESZE 135 m 3000 40500
BEE 1 = 6000 6000
18 B /et 1 = ¥214,340
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EXREISE
s SER-EATE)S175AELB 1 [E:1] 90000 90000
TE HERRMT 1 1" 30000 30000
ITE ENTEREGIS 6 | 4Pk 5000 30000
TIE HHwtMEIBREREIEI00V 2 " 5000 10000
I SRt EBES T E00V 2 " 5000 10000
T RHARERKEISE 5 " 2000 10000
IE EHRAERRKIE 1 " 5000 5000
I BMAEARKIE 2 " 3000 6000
IE REAAyFERETIE 6 " 3000 18000
IE BERAMYFERBIS 2 " 3000 6000
TE WbMERTIE 6 | 4Pk 3000 18000
TIFE 7-ARKIE 10 | » 1000 10000
i BREHM-EEM RS 1 = 75000 75000
T BHAFERGEGIE XHEN 4 | 7P 3000 12000
I BHAFERGEGIE DLALEEO 1 " 4000 4000
T RHFEITIE T IEEARE 3 = 2000 6000
Boig a7 hL—IL 3 m 2500 7500
AHRL— LB RRYE 4 = 6000 24000
RIFEAT TR 4 a8 12000 48000
BS54 1 = 6000 6000
IHH /M 1 = ¥425 500




a—Fk IEH FHi BE | B =i +%8 s
THRERIEISE
XHAFALAFRI 7O 5HP 1 =1 280000 280000
4 AEREM-REM 1 =X 10000 10000
B+ FLUERE - {REH 1 " 4000 4000
B ZEFEEfE 1 " 20000 20000
B4 o0 HRFEIE 1 " 2000 2000
BRA CHAES - HEM 1 " 20000 20000
TIE =AEBAREMGTIE 1 1" 10000 10000
IE ENHRARCIE 1 " 3000 3000
IE ESNENSERTSE 1 " 5000 5000
HEWESHLOEE 2 = 75000 150000
IE BRE-REREIS 1 " 10000 10000
IE FLY-FREZRBEIE 1 " 8000 8000
I BYERS UEIVERISE 1 1" 6000 6000
IH BEEBEAEEREE 1 " 5000 5000
IE BRE-FLUTAMEE 1 " 5000 5000
[ERSE 1 = 16000 16000
rMLBSRE 1 = 9000 9000
A ER RRFAIVRMRFEED 2 = 15000 30000
I8 B /it 1 = ¥593,000
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HRHEKBERBIE
BEKEEIS VU40-50 10 | m 400 4000
VU100 2 m 750 1500
G L F5E 1 = 5000 5000
XEHEY 1 = 6000 6000
BEIEE 1 = 30000 30000
HIHAR 1 = 3000 3000
HKERIEIS HIVP13 10 | m 200 2000
HIVP20 10 | m 300 3000
G L F5E 1 = 6000 6000
XEHEY 1 = 3000 3000
EEIEE 1 = 30000 30000
HIHAR 1 = 3000 3000
HEREIS CUP15 2 m 600 1200
E LM F5E 1 = 6000 6000
XHEEY 1 = 3000 3000
BREIEE 1 = 15000 15000
HOEAER 1 = 4000 4000
REMERE 1 = 5000 5000
REHFE 1 = 6000 6000
HERFEVES 2 a8 21000 42000
BEKES YT KA RS 2 = 9000 18000
¥BKHS> 2B Y 1 = 3800 3800
I8 B /it 1 = ¥200,500




a—K IHH B3 = | B B +%8 k=
HRAEZEIE
HRGHMLER 55 ESEERMNT 1 a8 29800 29800
HRAEEME 1 = 15000 15000
HABREILEE 1 = 15000 15000
HAMERELEIEHM 1 = 6000 6000
18 B /et 1 = ¥65,800




1—K I5H | EEa] HE| 5 i &4 =
REtHIEIRE - RERE

SHL-KEY 343 m 500 17150
AERE 35 2R LU E 343 | m 400 13720
HRER-AE-8B4 343 m 500 17150
15 RV E iy 343 m 300 10290
FEMNIBE 343 | m 1000 34300
o Y)—=—245 343 | m 800 27440
RGEE EIEfE S5&EMK 15%28 30 | #E 3000 90000
RIGE IR E 15 H 14000 210000
e T R e & 1 = 50000 50000
I8 B /&t 1 = ¥470,050






